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QUESTION 1

A customer wants to designate people who will be responsible for administering policies and workflows located in
various containers of the organization tree. 

Which option will achieve this objective with the least amount of configuration overhead? 

A. Create Access Control Items (ACIs) to allow each administrator to allow access to policies and workflows. 

B. Create Organizational Units for each container that has policies and workflows. 

C. Create Admin Domains for each container that has policies and workflows. 

D. Create Locations for each container that has policies and workflows. 

Correct Answer: A 

 

QUESTION 2

A services selection policy is evaluated under which of the two scenarios? (Choose two) 

A. When a user is added to an organizational role that is a member of a provisioning policy that targets the service
selection policy. 

B. When account workflows related to services are referenced in the service selection policy. 

C. Whenever a new service is added to ISIM. 

D. When policy join behavior is modified. 

E. When user\\'s attributes are modified. 

Correct Answer: AE 

Reference: http://www01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/admin/cpt/cp
t_ic_admin_servselpolicy.htm (see the bulleted points) 

 

QUESTION 3

A person modify transaction is created containing requests for two roles which are identified by a Separation of Duty
policy as conflicting. 

Which of the following is a TRUE statement concerning how the person modify transaction may be processed? 

A. An administrator or policy owner may change either of the requested roles so that they do not conflict. 

B. The person modify transaction may be completed without approving or rejecting the conflicting roles. 

C. An administrator or policy owner may reject either one of the two conflicting roles. 

D. An administrator or policy owner may reject or approve the role violation. 
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Correct Answer: B 

 

QUESTION 4

A user is a member of two ISIM groups. Each group is a member in two separate Access Control Items (ACIs), ACI1
and ACI2 on Static Organizational Roles. Each group also has a separate UI View associated with it, called View1 and
View2. 

Which statement is correct in describing the access granted or denied to the user? 

A. The user will be able to create a static organizational role via the Java API if access to Create operation is granted in
ACM and ACI2, and if View1 or View2 allow access to the Manage Roles task. 

B. The user will have access to create a static organizational role if its granted by ACI1 regardless of whether ACI2
grants, denies or provides none access to the Create operation. 

C. The user has a view of only the common tasks provided by both View1 and View2 in the ISIM Admin User Interface
or ISIM Self Service User Interface. 

D. The user has a merged view of all the tasks provided by View1 and View2 in the ISIM Admin User Interface or ISIM
Self Service User Interface, 

Correct Answer: C 

 

QUESTION 5

The criteria to setup indexes for a Directory Server attribute is based on what? 

A. The frequency of replicating objects containing the attribute to a replica. 

B. The frequency of reading and writing information to / from the attribute. 

C. The frequency of writing information to the attribute. 

D. The frequency of reading information based on the attribute\\'s contents. 

Correct Answer: A 
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